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11.

The booklet contains OMR sheet and having two
seals. Candidates will first open the booklet by
removing the seal at the top to get the OMR sheet.
Second seal will be removed two minutes before the
commencement of the examination.

Before starting the Examination, the candidate must
write her/his Roll Number in the Question Bookiet
and the OMR Answer Sheet; in addition to putting
signature at the places provided for the purpose.

This Question Booklet consists of this cover page, and
a total 100 items. Use Blank pages available at the
end of Question Booklet for rough work.

There are four alternative answers to each ijtem
marked as (@), (b), (¢) and (d}). The candidate will have
to select one of the answers that is considered to be
correct by herthim. S/he will mark the answer
considered to be correct by filling the circle.

Use black/blue ball paint pen to darken the circle.

See the following illustrations.

Nlustration:

1. Thesumof20and 12 is

(@ 32(b)38(c)31(d)34

The Correct answer of item 1 is (a), which should be
marked in OMR Answer Sheet as under:

Half filled, faintly darkened, ticked or crossed circles
will be read as wrong answers by the optical scanner
and will be marked as incorrect.

The OMR Answer Sheet must be handed over to the
invigilator by the candidate before leaving the
Examination Hall.

Keep OMR Sheet straight. Do not fold it,

All questions are compulsory, each question carries
one mark.

Use of calculator/mobile/any electronic item/
objectionable material is NOT permitted.

Controller of Examination
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Please note that in case of any confusion, the question printed in English will be considered final,
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51.

52,

53.

54.

55.

When income effect becomes stronger than
substitution effect, the labor supply curve will
a. Slope positively

b. Negatively sloped

c. Bend backward

d. Slope upwards

The.short run supply curve of a firm under
perfect competition is the same as the

a. marginal cost curve

b. marginal cost curve above the average
variable cost curve

average variable cost curve
d. average total cost curve

When an information asymmetry is observed
after an agreement is obtained between
individuals, itis called

u

Signalling

b. Moral hazard

None of the above
Both (A) and (B) above

o n

In theory of Profit, who suggested that profit
arise due to monopoly power enjoyed by the
producers?

a. L Schumpeter

b. M. Kalecki
c. FH. Knight
d. J1.B.Clark

Who is the author of 'Value and Capital'?
a. Hansen

b. Ursula
¢ J. R. Hicks
d. Philipes
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56.

57.

58.

59.

Wwhich of the following is not true for perfect
competition?
Price =LAC

b. Market demand curve fora commodity is

horizontal to X-axis
c. Firms earn normal profits

d. 1nthe long run firms operate at the
minimum point of average cost.

Which of the following statements is true?

a. Net investment is more stable than gross
investment when replacement investment
is constant over time.

b. Gross investment is more stable than net
investment when replacement investment
is constant over time.

c. Replacement investment equals capital-
output ratio times the expectedincreasein
output.

d. Net investment is greater than v-A, when
the capital-output ratio {v) decre

According to which of the foliowing hypotheses,
consumption isirreversible?

[«8]

Absolute Income Hypothesis
b. Relativelncome Hypothesis

c. Permanentincome Hypothesis
d. Life Cycle Hypothesisases

Assuming fixed prices, which of the following
statements are true?

a. Monetary policy is more effective, flatter
the IS-curve.

b. Fiscalpolicyislesseffecrive,ﬂattertheLMcurve.

c. Fiscal policy is more effective, flatter the
LM curve.

d. Monetary policy is ineffective and fiscal
policyis fully effactive in liquidity trap.

Codes:

a. ab,d
b. a,cd
c. b,cd

d. aonly
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60.

61.

62,

63..

If the economy is Operating at potential GDP,
anincrease in money supply will lead to

a. Stagflation

b. Structuralinflation
c. Demand-sideinflation
d. Supply-side inflation

There are four phases of a business cycle.
ldentify the correct sequence of the occurrence
ofthese phases:

a. Recovery, Recession, Expansion,
Depression

b. Recovery, Expansion, Depression,
Recession

c. Depression, Expansion, Recession,
Recovery

d. Recovery, Expansion, Recession,
Depression

Which of the following is true in case of the
orthodox (early) Keynesians?

a. Interest elasticity of demand for money is
extremely high,

b. Interest elasticity of demand for money is
low.

¢. Changesin the quantity of money do not
have important predictable effects on the
leve! of economic activity.

d. Demand for money is unstable.
Codes:

a. ab,c

b. a,¢d
c. ab,d
d. b,cd

If the mean and variance of a given
distribution is 8 and 0.25, then the
coefficient of variation will be

a. 4 percent
b. 8 percent
C. 12 percent
d

16 percent
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64.

65.

66.

¥ {chi-square) test is used to test
a. analysisofvariance
b. associationbetween the qualitative variables

c. difference between means of two
distributions drawn from the same
populiation.

d. difference between the means of two
distributions drawn from different
population

Random sampling implies that
a. the observations are selected purposively.

b. the observations are selected ina
systemic manner.

c. the observations are selected in an adhoc
manner.

d. the observations are selected in clusters.

Match the following from list — 1 and fist — it

List—1| List =1

a. Durbin- Watson gt 1. Stationarity
Statistics

b. R® II. Qualitative
Effects

c. Dickey- Fuller test . Serial
Correlation

d. Dummy Variable V. Goodness of fit
of regression
function
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67. Suppose that observations are available on
the monthiy bond prices of 100 companies
for five years. What type of data are these?

a. Cross Sectional
b. Time Series

¢. Panel

d. Qualitativel

68. Let the two regression lines be given as: 3x =
10 + 5y and 4y = 5 + 15x. Then the correlation
coefficient between x and yis

a. -0.40
b. 0.40
0.89
+1.05

o o

69. For the Cobb-Douglas Production function
Q=ALK'"™
The elasticity of substitution is
a. Zero
b. Infinity
C. One
d. Three

70. The order condition is
a. A necessary and sufficient condition for
identification.
b. A necessary but not sufficient condition
for identification.

€. Asufficient but not necessary condition
for identification.

d. A condition that is neither necessary nor
sufficient for identification.
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70.
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a. -0.40

b. 0.40

c. 0.89

d. +1.05
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71.

72.

73.

74.

75.

76.

Eor a viable input-output system which
conditions are postulated?
Hawkins-Simon conditions
Kuhn-Tucker conditions
Bhagwati-Eckaus conditions

Von Neumann conditions

oo T ®

Given the two regression lines estimated
from given data as under:

Y =4+0.4X X =-2+09Y

Then coefficient of correlation between X and
Y will be

a. 0.4

b. 0.5

c. 0.6

d. 0.8

Given the total cost function C = 702 +26Q+
5, MC at Q= Rs. 5is

a. 100Rs
b. 200Rs
c. 85Rs
d. 96Rs

Given a production function

Q=ALaKB; o, B> D, increasing returns 10
scale requires that

a. a+p=1

bh. a+p=0

c. a+B>0

d. a+p>1

The exchange rate is kept the same in all
parts of the market by

Q3

exchange arbitrage
b. interest arbitrage
¢. hedging

d. speculation

According to the cost based definition of
dumping, dumping occurs when a firm sells a
product abroad at a price whichislessthan

4. Average Total Cost

b. Average Variable Cost

c. Marginal Cost

d. Average Fixed Cost
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77. Trade deflection is the diversion of exports to

78.

79.

80.

a country within a free trade area that has
a. higher tariffs on goods

b. highest tariffs on exports

c. lower tariffs on goods

d. none of the above

Arrange the structure of balance of payments
accounts in which these items appear:

a. Capital account

b. Errors and omissions

c. Current account

d. Official settlements account

Codes:

a. ab,cd

b. ¢,a,d b

c. dcb,a

d. c,d,ab

Opportunity cost version of comparative cost
advantage doctrine was introduced by
a. 1.M. Keynes

b. Kindleberger

c. Haberler

d. Karl Marx

The most popular definition of sustainable
development is given by

a. World Development Report
b. UNDP Report

¢. Brundtl and

d. IMF Report

81. Monetised deficit means

a. Fiscal deficit less interest payments

b. Government expenditure which is
financed through the sale of adhoc
treasury bills.

€. Increase in RBI credit to Central

Government.
d. Fiscal deficit less loans and advances.
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82.

83.

84.

85.

86.

Grants from the Centre to the States under
the recommendations of Finance
Commission are known as

a. Plan grants

b. Development assistance
c. Statutory grants

d. Discretionary grants

If interest payments are subtracted from
gross fiscal deficit, the remainder will be

a. revenue deficit
h. gross primary deficit

c. capital deficit

d. budgetary deficit

Arrange the following in chronological order:
1. Jha Committee

i, Chelliah Committee

1. Matthur Commission

V. Wanchoo Committee

Codes:

a. ML IV

A

c. LU, LW

d. i, L

Cohin Clark has argued that for most
countries of the world, the safe upper limit of

taxation is

a. 4Q percent of national income
b. 30 percent of national income
c. 25 percent of national income
d. 20 percent of national income

which of the following tax can e shifted
easily?

2. Lump-sum tax imposed on the monopolist
b. Tax imposed on residential house

c. Capital goods meant for sale

d. Succession duty

83.

84.

85.
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87. “Atechnical change is neutral if at a constant 87. "waﬁﬁw&aﬁ?m%aﬁwumwﬁ

rate of profit or interest, the capital output RREER, gSit Iced igura i RR wEar g
ratio also remains constant” This concept %mmmuﬁmﬁﬁaﬁﬁﬁﬂ
was propounded by 2. Plaey
a. Kaldor b, Ry
b. Hicks c. der
c. Solow d. %ﬁg
d. Harrod
88. Endogenous growth models have been  88. Wm%mﬁw%@ﬁmw
developed by 72
!.. Kenneth J. Arrow L %ﬂﬁ- Lol
Il. Paul M. Romer I TETH IR
Il Robert E. Lucas I JISEE. qHr
IV. R.M. Solow IV, 3R.TH. gie
Codes: CArCH
a. fandll a. landll
b. illand IV b. llland IV
c. L lland i i i andiv
d. Ii, il and IV

89. Which of the following is not an assumption 89. FAfIEd A4 IS & 19T & Hise #t
?

of Harrod’s model of growth? IR I.I i
. . - a. Jifed Yot Iare erqura fRR 2
a. The desired capital output ratio is b, ST o Farfe o BT T
constant, o \'ﬂa’qm% E
b. Savings are a constant proportion of real c wwﬁwa@hm%ﬁ%ﬁﬂﬁ
income in the economy, Ry ez q ggdt g
¢. The labor force grows at some d. aﬁmﬁmﬁﬁﬂﬁﬂiﬂﬁﬂ@?ﬁ%i

exogenously determined constant
exponential rate.

d. Factor prices are flexible in the fong run.

90. Solow built his model as an alternative to 90, W%mm$mﬁmmm
a. Kaldor’s model of growth a. PIAS & Iy aﬂlﬁ@ﬁ
b. Ranis-Fei model of growth b. fawra &7 Ifg-w) Aigw
C. Harrod-Domar model of growth C. ﬁmﬁéﬁ@@?\’ alsd
d. Meade’s model of growth d. HIs & e 1 oigq




91.

92.

93.

94.

‘Miulti-dimensional Poverty index’ (MPl)isa
part of

a. World Human Report

b. Human Development Report
c. World Development Report
d. World Hunger Report

Which is the better measure of welfare?
a. National Income

b. Per Capita Income

c. Per Capita Disposable Income

d. Gross Natjonal Product

can be enhanced by

5. Increased public investment

b. Increased irrigation facilities

¢. Higher support price to the farmers
d

_ Shifting workers from industry to
agriculture

Select the correct answer from the given
codes:

Codes:

a. a, bandd
b. a,bandc¢
c. b,candd
d. c,danda

Which of the following tax is introduced in
India in 1953 and sbolished in 19857

3. Estate Duly
b. Expenditure Tax
c. GiftTax

d. Agricultural Income-tax

9z,

93.

94,

a,bandd
a,bandc
b, candd
c,danda
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95,

96.

97.

98.

Which one of the following does not come

under land reforms in India?

a. Abolition of intermediaries and Tenancy
Legislation

b. Ceiling on Land Holding and Co-operating
Farming

¢. Tenancy Legislation and Technology
Upgradation

d. Abolition of intermediaries and Green
Revolution

Codes:

a. aandc

b. aandd

c. aandb

d. a,b,candd

What is the primary deficit in the year of
2021-227

a. 5.7 percent

b. 3.2 percent

C. 6.5 percent

d. 2.1 percent

Percentage share of the manufacturing
output of India in the world total is now

a. 3.5 percent
b. 3.0 percent
¢. 2.5 percent
d. 4.0 percent

What is the share of India in the world
merchandize exports in 20207

a. 0.51 percent
b. 0.91 percent
¢. 1.12 percent
d. 1.57 percent
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99. The components of the organized sector of
the money market

8
il

Bill market

Stock market

L. Gif-edged market

V. Bank loan market
Codes:

d.

t and 1M1 are correct.

b. |, liland IV are correct.

c.

{,1and IV are correct.

d. land 1V are correct.

100.High powered money comprises

a.

currency held by the public + Cash
reserves of banks

Currency held by the public + Demand
and time deposits + Cash reserves of
banks

Currency held by the public + Cash
reserves of banks + Other deposits of RBI

currency held by the public + other
deposits of RBI
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